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	Information for Candidate:

1. This examination paper contains ( 3 ) questions totaling ( 15  ) marks.

2. The marks for parts of questions are shown in round brackets.

	Advices to Candidate:

	3. Answer questions in order.
	2. Write your answers clearly.
	1. Answer all questions.


Question 1: The following porgram has five errors. Find them and explian why?  
                                                                   
	Line No.
	Reason

	
	

	
	

	
	

	
	

	
	


Question 2: What is the output of the following program ?


Question 3: Complete the following program to be right?
Class overload

{    int x,y;   };

main ( )

{   overload a,b,c;

    d[1]=77;

    a = 10 + b;

    if ( a > b)    c = a++;   }
Good Luck



















 #include<iostream.h>


class base


{


public: base ()


	{ 


	cout<<"base constructor\n";


	}


	~base ()


	{


	cout<<"base destruster\n";


	}


};


class derived1: public base


{


public: derived1( )


	{


	cout<<"derived1 constructor\n";


	}


	~derived1 ()


	{


	cout<<"derived1 destruster\n";


	}


};


		




















class derived3: public derived1


{


public :  derived3 ( )


{


	cout<<"derived3 constructor\n";


}	


 ~derived3 ()


{


	cout<<"derived3 destruster\n";


}


};





int main ( )


{


       {  derived1 obj;  }	


        derived3 ob;





	return 0;


}





Answers:





#include <iostream.h>


class base 


{	int i;


protected :


int j;


public:


int k;


};


class derived1: base


{	int x;


protected:


int y;


public:


void print( )


{  cout<< i<<j<<k;


cout<<x<<y<<z; }


int z;


};





class derived2: protected derived1


{	int m;


protected:


       int n;


public :


        void printv( )


    { cout<< k <<z <<n;}


};


int main()


{


derived1 ob1;


derived2 ob2;


ob1.k=ob1.z=22;


ob1.y=1;


ob2.z=21;


return 0;


}
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